1 Which of the following statements about

L TR Hifefeas aic HIEHITH w7 3,55
traditional Haryanvi literary and cultural forms is : :

] ﬁﬁtr%r&gaﬁﬁﬁ:r-mmnm%?
incorrect % > )
(A) Ratvaiisa dandc(iéssociated with the Mewati . ﬁﬂ@@'{ﬂ% !
(B) Ragini is a popiij%\r form of narrative poetry kL | _

in Haryanvi, o ©) F (i) w A i 2 et iy
(C) Sang (Swang) isia folk theatre combining FH _l TR | {

music and dram@?) (D) IR TS ST TIATRTT forma & farr o
(D) Jhumar Dance 1s performed by men in 5 !

circular formation. (E) St e amy
(E) Not attempted %’E

Arrange the following districts in descending order 2. fTm=fafag i =y
of their Census 2011 population ;

: : & ST FH T sty Fifsre
Hisar, Yamunanagar, Faridabad, Panipat
’ ' , fea, REEIEL IR, g
(A) Faridabad > Hisar > Yamunanagar > Panipat ¥

d'> Hisar > Panipat > V. Mcﬁﬂamla>%m>w>m
idabad > Hisar ranipa amunanagar ‘
(B) Faridaba Pli . g (B) HeTZ > firpre o e
(C) Hisar > Faridabad ilzampat > Yamunanagar

2
B © %m>¢ﬂawm>m=ﬁqa>wwn
(D) Faridabad > Pampaéﬁ Hisar > Yamunanagar (D)" wieErE > g > Em >
(E) Not attempted t;

b ST o S g o e o A S

Contributions g Harya
literature 9 anvi mmﬁ“@mmmm%?
(A) Saraswati Samman (A) AT ey
(B) Vyasa Samman AT ST T
(C) Haryana Gauray Samman (©) mfﬁwmn
. 11 . ‘
(D) Pandit Lakhmj Ch;aﬁd Award (D) trﬁa.aa@mﬂam oyl
(E) Not attempted a (E) ST Sy 2y
,‘rg I 9‘
4. What was the original"u_p:ame of the fort buil¢ byl4, S ﬁmmﬁﬁaﬁﬁwqﬁmﬁwmm}
George hThomas which  was later named ﬁm@mﬁmnw?
Jahazgarh ? - W SiETE L
: m (B) qIHH $
(A) Georgegarh (B) Thomasgarh %)/' (D) T f
(C) Bahadurgarh (D) Jhajjargarh © "3'3“'1:” L
(E) Not attempted (B) StTel _/B
B
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p Which of the following word best completes the | 5.
: relationship given belf)w ?
_Cell ; Organism : Brick : ?
. (A) Building
(B) Wall
(C) Mason
(D) Cement
(E) Not attempted

6. Find the odd one out :
(A) Violin (B) Flute
(E) Not attempted

(C) Guitar (D) Sitar

7. Kajal left home for a hospital. She travelled 5 km |7,

towards East, then turned towards South-East to
travel another 10 km, then again she turned
towards North-East to travel 10 km and finally, she
reached the hospital. In which direction is the

6.

frefafaa & & H-ar v T e o dey = s
=S Y [ FATR 2
m:'&ﬁﬁi: B A
(B) dHEm )
—%C) faeht 2
(D) Hiie s
(B) ST TR

=2
EEE
B

ﬁrﬁmﬂﬁﬁ: -
(A) FEfEH (ﬁ‘r@ © free (D) few
(E) I AL AT =&,

il
-

Tl T & Sy 3 ey, Skl | e 9 o el
5 ferrft =, fopm feaor-ga =1 i et 10 fordt =reh,
T = Satqd i 37 gz 10 Feft =reft ofw ofa
IE IFEAATS U5 713 | IHeh 9 o T AT o6

hospital with respect to her home ? femae?

(A) North (B) West (C) South (D) East (A) 3®  (B)9EW (C) =R W) @

(E) Not attempted (E) Iu S <1 =TEd r~
8. .::;d the odd one out : 8. ﬁWﬂﬁ“{ '\‘_; /-‘V 5 )'}/;/

&) ;69 (A) 169- 11 S &

©) 187 Bt e H !

=gty

(? e (D) 143 . N 12) [}3@ V.

(E) Not attempted g%% (E) IaT et A1 =med | ?7
> What is th 3 % -

ks € value of the following expression ?|9.  fmiferfad sdsieh 1w T R 2 w!d

e X 1. -—
R 131 DH(672+08) - 2.1y’ (32 x 1:5) + (672 + 0-8) - (2:1)° ly §°
b 21 37
© s (B) 4-8 (A) 1321 (B) 4-8 _

&) 879 (D) 1099 AC) 879 (D) 10-99 /”-*/‘ﬂ
% Not attempted (E) I T AT TR VY 6-
B\ %-8(,,8.1,] _ L/,L// L{,E

&3 & ) 3. ’L_ra __6_‘_‘____
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10.
the following equations will hold true ?
(A) (18+6)x12=90
(B) (9+12)x 1860
) (12+1¥)x12=72
(D) (12+6) x 1%‘*36
(E) Not attcmptcci

Haryana shares its“- boundary with how many
Indian States, excluding Delhi ?

(A) 5 (B) 6
o 7 D) 4
(E) Not attempted

11.

12.  Only three of the options can be formed using the
letters of the given WOrd CELEBRATION, using
each letter only once One option cannot be
formed. Find that WOrd
(A) ACTION
(C) BRACE ™
(E) Not attempted

(B) TABLE
(D) ELECTRIC

13. Inwhich year was the Circuit Ho

the residence-cum-office of the Governor
made Raj Bhavan Haryana ?

(A) 1976 (B) 1966 (C) 1986
(E) Not anempted

use converted into

and

(D) 1956

required for a Scheduled Caste (SC) woman

candidate coutestmg the post of Panch, in Harya
Panchayati Raj Insntutrons elections ? -

(A) 10th pass (B) 5th pass
(C) 8th pass (D) 12th pass
(E) Not attempted

15. In a certain code, ‘BASKET’ is wriftep as
‘583%#1° and ‘TRIED’ is written as ‘14%#2’

How will ‘SKIRT’ be written in that code ?

After interchanging + & x and 12 &18, which of

13.

14,

(A) 3%#41 (B) 3%%41
(C) 3%%41 (D) 3#4%l
(E) Not attempted

10.

11.

12.

+ & x AT 12 & |8 Y 30 H arger Frerfefy
& Sy-ar GHiHT e B ?
(184 6) x 12=90 A 246) 118,
B) ©+12)x18=60 (7 FI1g) + |0 e
(C) (12+18)x12=72
(D) (12+6) x 18 =36

Bl
(B) 3wt 3 =mea a5

sfEmon shr €, faoeht 1 e, e s o 1
& U AT 8 2

(A) 5 (B) 6

©) 7 or4

(E) W& AT =g

fRUTT 3158 CELEBR A TION 3 a7erii vt 3w =
Faet T FreT ST ST E E, Seifn wei o
T ST hefe Ueh S Tt STt 2 | wep Forreg 7
ST ST G | 378 3758 e |

1¢

(A) ACTION (B) TABLE
(C) BRACE —07 ELECTRIC.
(E) I A amey

he e W B oad e
Pt ¥ ufafie frar o
WWWW?
1976  (BY 1966 (PJ 1956

(E) 3T 3r ey
e TS Eeenadt & gamat § od & ©

fer T ey ety a‘iﬁﬁﬁmﬁf@q@aﬁﬁ
o A Derfes A ?

(A) loa:rq-ﬂ:{ Saﬁtng

B (D) 12t g™

(E) T 2o e

SE:IZ$§ L2 o wrar @ 1

N k] %ﬁ-%@]m?

B 3%a) —13) 3% 41
(V]
) Iwvay (D) 3#4%!

(E) ST 31 1y

(C) 1986

19
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g T

fad ‘ bill was received, Amita paid 2/3 as much as Veena
{ paid and Veena paid 1/2 as much as Tanya paid.
=, What fraction of the bill did Veena pay ?
a (1’: (A) 3/11  (B) 173 (C) 5/11 (D) 4/11
(E) Not attempted
:
| 1. What is the name of the Haryana Government
= scheme that compensates farmers when market
prices fall below MSP ?
(A) Meri Fasal Mera Byora
: (B) Krishi Sinchai Yojana
| (C) PM-KISAN Samman Nidhi
:ﬂﬁ (D) Bhavantar Bharpai Yojana
im{ (E) Not attempted
7@
!r 18. What is the primary objective of the “Manohar
i Jyoti” scheme launched by HAREDA (Haryana
5, Renewable Energy Development Agency) ?
(A) To supply LED-based solar home lighting
L systems to households |
i (B) To promote electric vehicles through
subsidies
[ -
, (C) To‘ install solar power plants on government
| buildings
1 (D) TO pr(l)vide solar water pumps to farmers for
> 'migation purposes

R0
z%g
[T

j ~ (B) Notattempeq

ich ancjent river, often mentioned in Vedic|1

16 Three friends had dinner at a restaurant. When the @ i St i’r T Wi | @FIT @ | 57 foret foem, a

ST A &l 2 T 6 2/3 A fop ST
I 3 ST T 1/2 A e | e 3 fre
L b DN

o™

i)

(A) 3/11 (B) 1/3 %C) 5/11 (D) 4/11

(E) STt E 3 = {fr}:
17. affmﬂmaﬁrmaﬁ{@mwm%@rwup

woedt & 9 e ® R @ geEsn o

297

(By W Ha T =

(B i fid e

(€) drea-feram g ffa

Y vTEa g AN o

(B) 3Tl o =mad ’é"%

18. ﬁm@ﬂ‘awnmmﬁ%%mqﬁﬁ)mimﬁn%

$

‘W?&ﬁﬁ*’ﬂ‘ﬁlﬂﬂ:@ﬁﬁﬁ@%?
(A) TRY 3 U)o e e W e AR Yo
S :
Tqfd o

(B) &fSHE % Aeaw & gollegeh aTe it ag@r AT _
(C) TCHRI a1 U HR Foll 69 ®Iya AT

B R  fore e e i 4 3oy e
(E) S el gar =ved

9, afcew el # s aﬁqumm Wi 73 FAHH

te ) !
pr’;:: IS believed to have flowed through g & R sTeelt oft Qi Tt JTRRR U SN
*¢Nt-day Haryana and its revival is a current RIS R 2 Ry d
| et . 38
i (A) Asiky (A <l 3 o
5 m B) YEEl G)
(C) Vipasha /EB;/H(’EHI
(D) Saraswatj (E) A TR
E) Not attempted
.~/ B
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E

ing is the State Tree of|20. =g o & s Eltq"’”aﬂmggq%
20. Which of the following 1s th
' PrasLs
Haryana ? 2
(B) #m
(A) Peepal &)
(B) Neem o i
(C) Mango \"{) (D) w& ) 0P
R (E) SUET &A1 9med &
(D) Banyan .o
o
(E) Not attempted
@)
‘ . i
21. What does the BCC field in an email stand for? |21, $iet & BCC e =1 T 372} & 9
(A) Broadcast Carbon Copy (A) FTShiE $- EL T o
(B) Background Central Copy | (B) U ai(_'l 1l )
\ (C) Backup Communication Copy (©) eI $m¢\i3!%3l=l <h1d]
(D) Blind Carbon Copy _ By TS e it
., -
(E) Not attempted g%g (E) I i 37 9
l} ! 25
| 22. Match Backup~media (Column A) with its|2s, st Hifear (wiem A) 1 359 R (wrwp
Description (Column B)s e Hife .
ﬁw
Column A ) ColumnB < L
(Backup (Description) e A hICTT B
media) ‘ (a%-m (%W)
a. Tape Drive i, Cheap but slower optlcal W?ﬁ'!m
media & WIRT i e e i, iR i
b. SSD Backup ii. Fast random access, ifsan
Disk durable b. SSD BT i, 35t argfier s, RFS
o Cloud ii. Remote mtemet-based
Beckup 5% storage ©TWE i, el gzcie-amaia @
d. DVD Liv. Sequential- -access, low I
Archive “'n/ cost per TB d. Sty iv. aﬂ'ﬂs‘&lﬁ-im,@ﬁa
Codes : o ' ATehige SIUG] 27.
(A) a-iv, b-iii, C(—lj d-i B X
(B) a-ii, b-iv, c-i, d-iii (A) a-iv, b-ijj, C-ii, d-i
(C) a-iii, b-i, c-iv, d-ii (B) a-ii, b-jy, c-i, d-iij
Py aiv, b, e, d- (C) a-iii, bei, c-iv, g5
. (E) Not attempted L1 a- -V, b-ii, c-iij, d-i
| . (B) I et e sy sy
B

8
&6 & T
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25.

26,

/1)

. @A) windows 10 Pro is a single-user operating

Which of the following statements is incorrect 9

systcm.
) Windows supports a Graphical User Interface

(GUI).
©) windows 10 Pro supports remote access.
D) windows allows file w,__

(E) Not attempted

What is the name of the Ha;yana State Culture
Policy approved by the Haryana Cabinet in
20197

(A) Kala Virasat Haryana Neeti

(B) Sanskriti Vikas Haryana Neeti

(C) Kala Vikas Neeti

(D) Kalash Neeti

(E) Not attempted

23.

Fafafaa i @ s e &2
(A) FHET 10 51 o River e e forem
B) fdw mfvwer TR ST (GUI) w1 TR
HEATR |
(C) farStet 10 it e vt (g @fommen =t et
HETR | R
ADY TSt wree dfte st dar
(E) Swadidmsmes  ©

Y

24. 2019 # it Hfee g ST wiEmn TS

el AT F AT FTR? 0
(B) Gt ferenrar wfeamon Hify
(C) Fa famm fifa >

(D) e fifa

(E) IOE &1 =9med

910}
*
[Elgse

Which file format is best suited to store scanned 25.2 OCR-914 T3 Tt #hi Hiférd o ge & fere e

documents while MW
layers 7 o
“(A) TIFF
(B) PDF
(C) PNG
(D) JPEG e
(E) Not attempted gég
Which of the following trees are commonly found
on the slopes of Morni Hills ?
(A) Deodar and Cedar
(B) Bamboo and Teak
(C) Neem, Oak, Pipal, and Jacaranda
(D) Eucalyptus and Sal
(E) Not attempted

:Vhich of the following is the correct order from
Mallest to largest unit of digital information ?

Y Kilobyte, Megabyte, Gigabyte, Terabyte
2 Megabyte, _K_i]obyte, Gigabyte, Terabyte
© Gigabyte, Terabyte, Megabyte, Kilobyte
D) Kilobyte, Gigabyte, Megabyte, Terabyte

TEIES Sl IR FE & o, SH-97 wEd 9

HEE TG © ? o
(A) TIFF 4y
(B) PDF :{ {f)
(C) PNG ¥ »
(D) JPEG ) e

26. frfafad 3 & ¥ I am=r: S geial 6
TAMT QAT ST & 2
(A) JTeR HRHR
(B) g AR AEM )
(D) Fehfereed s arer
27, fefireet g o R i) @ W g o e
w0 fmfafaa § d @ 2
(B) Amrage, feretistge, imemge, 2usmse
() "frese, 2uTse, AmEse, Rrearse
(D) mwwmf
(E) I <A1 Ameq

) Not attempted

&7&
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28. A invests T 50,000 for 8 months, while B invests|28. A e ey o 8 g&m a?ﬁﬂf 50,000 ﬁ%ﬂm%
T 80,000 tor 6 months in a venture. What should be S GICD B, 6 T & ﬁ'TQ Z 80,000 F&Y 3 | 2

the profit sharing ratio of A : B ?
A : BT ST FTSI STATa 7 BT =R
A 1:1 B)S5:8 (©)8:5 (D)5:6 ,

(E) Not attempted (A) I:1 (B)S5:8 (C)8:5 5:6 |
= (E) Su el 3T =med

M
-
\

29. A trader offers two successive discounts of 20% 29, ) Teh SR T 2,000 Hﬁﬁﬂ?ﬁ IE W 20% A x F
and X on an item lbi:irked at ¥ 2,000. If final selling 3 SHE B2 YeH T § | gfe 3ifen R e

price is ¥ 1,280, find x. 1,280 &, 1 x F1d Q|
(A) 25% @  (B) 20% (A) 25% (B) 20% >
(C) 3333% (D) 10% (C) 33-33% (D) 10%
(E) Not attempted (E) Wqﬁhmﬁ'
|
30. A .conical tent of radius 7 m and height 24 m is|30. 7 Hier =0 3ﬂ1: 24 i FETE I TSI |
being made. If cloth costs T 10 per square metre, HW“EHTEIT'GITET% | afe w9 I v = 10 g 30 [
then what is the: total cost to cover it from the Hiet 2, A U e § Ty I Fe T F|aw Lo
outside ? (Use 11=22/7) e . . |
(A) T5750 o (B) T5,500 (A) T5,750 \«Bé;oo 35
(C) T4,800 & (D) %6,000 ’ ’ '
(E) Not attempté_&'j‘ [;[%% (C) T4,800 (D) 6,000 1 -
® & (E) ST TEI <A1 =med 177'1 TR 235 10
31 i i 5 mi i
ey oy 0 3 oD 2 ) e |
0 | 2 0 |
continuous operation, how many units' will it 9 8 ST ;Zﬁ a;;ﬁ el
produce in a S-hour shift ? R T fobe qﬁz?
(A) 1108 (B) 130 PR 00 7 3
(C) 1128 D) 108 (A) 1108 (B) 130
(E) Not attempted (€) 1128 (D) 108
(E) I ST e SRt
o E]%ﬁ’
32. A manufacturer sells an item to a shopkeeper at a @ frafar, THAAT
profit of 25% on his (the manufacturer’s) cost R i ® T Elﬁ:mﬂ; (ﬁqu%
price. The shopkeeper then sells the same item to a T Hed W 25% o @9 W m | e aaﬁrqﬂ '
customer for T 500, making a profit of 20% on the el ] Y O e ) 500 ¥ Srerar R, ﬁR:R?f #
selling price. What wasqlhe manufacturer’s original EED AT 20% A B | g & fora fof
cost price for the jiem F1 S AT TS AT o7 9 ‘
(A) 7300 (B) %400 (A) %300 '
(C) %240 (D) 320 ©) T240 B) 400
(E) Not attempted ©) . (D) T320
1) ST AR 3T =y
E-—

IAS) AR
Y - _Jopo— 4°% Apwrge y ¥ - Topo |
- /b‘ﬂ /VTJ | e




Goods and Servi .
3. Who chairs the ices Tax (GST ‘ )
P council in India ? )|33 Eﬁa‘ﬁ@waﬂ@ﬁ@aﬂr&w@m&m
(A) RBI Governor ALl %?
(B) Union Finance Minister (A) SATETATE T ~ é ST
(C) Finance Secretary mﬂﬁﬁw
(D) Prime Minister © fre wliT . :
Not attempted _
® e P (D) Wq’:ﬁy ‘
(E) S0 T 31T =T 529
e
34, Which pollutants are the primary focus under‘@ THEITH (NCAP) & 3farid - ﬁmm’ﬁﬁrﬁlai
NCAP?_ - WEQII@I% 0 g
(A) Nltrogen Dioxide and Carbon Monoxide .
(B) Lead and Mercury (A) SIS 3'331|3’€||.$3I Gﬁtwm
(C) PM2.5 and PM10 (B) #WETIRIT_ - S° _
(D) Sulphur Dioxide and Ozone (C) 2.5 aﬂtcﬂqmo} Ve
(E) Notattempied (D) T SRS 3N AHISH
gl ol . o
(E) IaX el & =Ired
35. Identify the incorrect pair : 35. I7eTd g hl qegH FIfeg ;
(A) OPEC — Climate agreement qugﬁm
(B) NAFTA — North A';merig:an Frf3§: Trade Area ®) _ ft ot ﬁ e i
(C) BRICS — Developing economies
(D) GATT—\I?E(_!ES_stor of WTO — (C) forae - ferehraeicT 312?3513'{1211'({
(E) Not attempted ’@%EE (D) fi2 (GATT) - :e.maafr (WTO) T gaiadt
e (E) ST 3T 9 o5
@
3. Which of the following is not an objective of the 36. fr=fafaa § @ sF-4A7 EF&TUT afiré & weEm
South Asian Association for Regional Cooperation €131 (SAARC) T I T2
BAARC) ? (A) GEEr 3T # TR TSI S U
(A) To establish a unified political system across FoT -
member states . o et ‘
B) T. among themselves (B) AU Tt & T feir oh HIE U I |
o strengthen cooperation g
fcommon Hﬁ?ﬁ’T?ﬁW
in international forums on matters o1 €0
interest mm%mﬁwﬁm%m
© To promote the welfare of the people of South ﬁ\—,naq & ﬂﬂT‘q'ﬁTﬁ U T,
Asia and to improve their quality of if (D) & § onfiE fr, wwfE Wi siR
(D) To accelerate economic growth, social Hl@h‘ﬁﬁ? ﬁ?ﬂ'ﬂﬁaﬁﬁ & "
progress and cullural development in the
n (E) e T 3T TR .
region v~ ) 34
®) Not attempted 2 3 3\ -
m %6 =
& X ovo + (e
7 0 720157 ;a ) o
Lot 4 2o 7/o>4 = 34/ 1gom .
E 314 / v v



37. Consider the following statements about the |37, R & i G} ”‘b’lﬁmqﬂm (©
37 Comptroller and  Auditor General (CAG) of ﬁ%wq{ﬁ AG) % iy
India : L CAG N f}qﬁﬁ Elilzlq :
I. The CAG is appointed by the President of 3 '™ WG gty ECL ﬁ\“m
India. ; s
Il The CAG can be removed by the Prime IL CAGE@[F{%IH 7 mmm
Minister, 11 CAG %; 3k ) W%l )
. The CAG audits the accounts of both the F\T@Tcrﬁm ’ Tr\{ﬁ__yﬂ_mf[ ?H‘r & Gle 3
Union and Stategovemments. v b %J '% o
< . - CAG damyg :
IV. The CAG submits audit Teports direcy) t A Rk ey E) o
the Finance Minister, o TR - . # T
Which of the above stéternents are true ? Eqﬂ?ﬁﬁ | ﬁq—ﬁmm )
(A) Tand M only :% <
» A) Fag
B) L Il and IV oqy? - W) I sty
(©) Mand 1V opy 7 L IRy
(D) Tand g only ( ©) ¥ 1 Ry
(E) Not attempeq mam D) ¥t 1 3y
e (B) 3Tt 3y ey
38.  Which one of the followin ' : : s .
Hitappen culture 7 g1s .not associated with 38. z-q-%ﬁga Ty En rf »
9
(A) Drainage system . _ '
(B) Great Bath (;;3 (‘;‘) - Fepreft s "
(C) Tron tools ) (B) o
(D) Bricks and mo i €T AR F ol _
ricks ap, Beag‘s,J (D) & aiemsy
(E) Not attempted (1) (B) 3 et 3 ey
39,

Which country assumed th,

e BRICS presidency i
2025 following Russia 9

FH & A€ 2025 ﬁ%waﬁmw%qéu?{m

CAR R ¢
(A) South Africa A AT S aKr)Cs
(B) India 50 (B) wIw
(C) China 3 oy
(D) Brazil ) S
&) _ 4
(E) Not attempted 0 (B) 39T e 37 =med E‘i@
40. Complete the series : 40. ’!—@T c@@ )
4,7,13,25,49,? 4, 7, 13, 25, 49,7
(A) 91 (13) 8BS (C) 101 (D) 97

(E) Not attempted

(A) 91 () 85 (O) 101 Y‘lfs;‘
i]

(B) FaC el a1 wmed

L
&10& 4 ¢ 12, 2Y
B S ]

— ™ — N




41. Which one set of letters when sequentially placed

at the gaps in the given letter series shall complete

it?

ofe _ig_eii_ fei _gf i

(A) ifgie (B) figie
(C) ifige (D) eifgi

3
(E) Not attempted :

42. Three tasks must be completed, each taking 0n€
hour :
Task 1 : Needs Anita and Babita
Task 2 : Needs Babita and Cheenu
Task 3 : Needs Anita and Cheenu
Only one task can be worked on at a time. No
person can participate in two tasks simultaneously.
What is the minimum total time to complete all
three tasks ?

(A) 2-5hours

(C) 3-5hours

(E) Not attempted

(B) 2 hours
(D) 3 hours

Select a figure from the Answer Figures which will
continue the same series as established by the five
Question Figures.

43.

Question Figures :

W

0 || A > .

m @ & @ (%)
Answer Figures : :
W [ & ® [
© [z (D) \%,

I

(E) Not attempted

44.  Which location is renowned for hosting the Mango |4

Mela every summer ?
(A) Faridabad
(C) Karnal

(B) Panipat
(D) Pinjore

1. IR B A7 TR & 7 78 sfet F ek

R ShHh T AT W I 0
gfe { ig -feii § fei L gfeii .

T_fgie (B) figie
(C) ifige (Dj eifgi

(B) Sy~
., ¥ ®

(42,) < e €, o 7 e e
\aﬁﬁlzaﬁmaﬂraﬁmﬁ}%avg%ﬂ@
e 3 ¢ SAfe & <y i srrawrEa R
ek TH  herel T € e FoRar T ot & | S off
TR Ok W1 &1 T & 9 T o Eha

R it B G e 5 T e e H R 2

(A) 254 (B) 2%

(C) 35% (D) 3%

(E) SR FT=ED 5% 733
(i} E ~

(@]
ma@ﬁlﬁﬁﬁ@a@ﬁwmaﬁﬁqsﬁwﬁ

T SR ERT S aen F S @ -
S |[¥

0 || A > '

m @ & & (5)
TN STRfAAT
[ & (B) ’\g_,
© [ S0 [
(B) s e ©

O
o™

Q;
4 g & ot e 3 A ¥ R B R

yfag 2 ?
(A) FEEE (B) ariaa
(C) T, ST fiisiie

(B) 39Tl &r ared

(E) Not attemptéd

——

B

-
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46.

47.

45. Consider the following
Haryana’s folk music :

statements  about
I *Bara Masa’ is a popular musical form that
expresses  the  emotional journey  of
separated lovers through the twelve months,

II.  “Jhoolna’ songs are associated  witp

religious ceremonies and sung durin

2 death
rituals.

IIl.  “Phag’ is a seasonal form

during the Holj festival ap
and playfulness

of musie sung
d expresses joy

Which of the above Statementg

18/are true 9
(A) L 11 and 111 (B) Iang 1T only
(©) Iand only D) 1 only
(E) Not attempted :
2]

: wing Statements gy,
Tegarding DRIISHYA? © e

Is

Haryana launched DRIISHy A or Surveying
infrastructyre Projects. '

I1. DRIISHYA Wwas launched in 2023,

III. DRIISHY A is headquartered in Gurugram.
IV. DRIISHY A provides

the youth in Haryana.
Options : |

drone pilot training to

(A) 1,1l and IV only

(B) Il and 1V only
(C) Tand 1l only

(D) and 1V only
(E) Not attempted

A farmer looks out into his farm and sees both
chickens and cows. He counts a total of 30 heads
and 74 legs. Assuming every animal has exactly

45. =@y

II. R g

90 Seh 3 v 5
ﬁ?ﬁﬂw@ﬁ%im o

(DRUSHYA) % gy
FHFF T 9
L Wﬁiﬁ“@\gzh@ﬁm)vmmﬁ
%ﬁw%WHSHYAﬁm%m

IL. DRIISHYA #2923 ﬁ?ﬁrq%mwm;
111 DRJISHYAwg@mmﬁ%I

IV. DRISHYA & 4 T I qrrere
| SR AT R |

e

(A) FFLURIV (g L 3 1y
(C) Faet 13l (D) F 11 3tz 1y
E) 3T 3 wrea .
= o =
S
47, % BT S 5 S & o i s
Rl | 78 G0N 74 8 v |
T o ST o O e R, v 3

one head, how many chickens does the farmer qﬂﬁ%? F\qm@;
gt w1 AT @1 o
(A) 18 (B).15 (C) 7 (D) 23 (B} g
(E) Not attempted .
B NN 8128 Yo /Y

Ko



It triangle represents Men, rectangle represents
Businessmen and circle represents Millionaires
3

then which number represents Men that are both
pusinessmen and Millionaires ?

13
1 \8 /10 12
w1 ®I1 Ol Ol
:

(E) Not attempted o)

2
49 A pi'ccc of paper is folded and then holes are
punchcd in it, as shown in the Question Figures.
From the given Answer Figures, indicate how it
will appear when opened. ‘

Question Figures :

A | e

‘ Answer Figures @

» ®
AN A

D)

S

P

- CIfCscored 80, what is A’s score ?
 wp @76 (©380 (D) 84-

(E) Not attempted

150 A scored 20% more than B. B scored 25% less thar(@ AdBE

48, =1f2 Finget et 8t qaifan R, otrra sy Ay <wiar
& 30k 3 gl A Tk 8, A A den 3

e o8 el & i et Sk g A £
7 3.
1 @)lﬂ @)
2
]
@) 13 B0 (8)11 (D) 12
(=1

w%@\,ﬁ%ﬂqﬁgrw% afe e 3 9 5T
S|

%,émﬁﬁma:@%ﬁﬁﬁ@mm%lé’rfé
ww@ﬁﬁm&ﬁ@ﬁaﬁmuﬁmﬁ@m‘
m o
Waﬂﬂjﬁfﬁ z}
NP 2

Lo |
IR ATHITA : ©
) ® [ .
(C) D)
4: ZQ ’

(E) sradi T Eed {7
Q)

20%%%3{%@5%@{25%@
mmmlaﬁcﬁsoﬂéﬁmmaA%a@m

fRatE?

e —

(A) 72 (B) 76 (C) 80 (D) 84
(E) I A1 =ed -
& 13 & A = 17°

5 Ta

[



Sl.

1f 3A =2B =4C, then whatis A:B: C ?

51. AR3IA=2B=4CR,TWA:B:CHIZ?
(A) 2:3:5 (B) 4:6:5 ' (A) 2:3:5 (B) 4:6:5
(C) 2:3:4 (D) 4:6:3 (©) 2:3:4 _APr7:6:3
(E) Not attempted (E) W‘lﬁaﬂﬂmﬁ
, o : —_ .
s2. Wthh. of the ‘foil'bw1_ng pairs of scientific 5. frafofa § & e ofsrrt @Téiﬂﬁaﬁ
inventions and scientists is incorrect ? - 29
(A) X-rays— Roenfgin g
- s & (A) TR Tl —
(B) Penodic Table x?Mendeleev ®B) 77 Tl — ey —
(C) Radio — Rutherford ‘
o @) T ©) Veh-wwHE  —
(D) Penicillin — Fleming . (Bﬁﬁﬁfﬁﬁ T —
(E) Not attempted ' (E) It e
53. Which of these gives an incorrect relation between : -
G TN 53, ?ﬁﬁ?—m HCF 3T LCM & o= 7e7d Haig &y
(A) aand b are both divisble by HCF (a, b) ( A) S0 b 2 HCE (a, b) & Fssa
a g “(a,
(B) HCF < min (a, b) ®) H'CF‘ < mu; (a b) T
(C) HCF (a, b) X LCM (a, b)=a/b e CF; by x L’CM B
Ot attempte [l i
o bla,: ® 5 (E) I &=
54. Fill in the T e .
A o 54, frh e i
Ifa +b =29andafz 10, thena+b= aRra’ +b =293 ab=10,da+ b=
S T
: (C) 14 B +7 070
(E) Not attempted (E), ST PERY Eé@
55.  Which of the following ‘data set-to-average’ pairs |55, fyefefad ¥ & ®H-8 LT Ge--afge 7w
is incorrectly matched ? e Teaa e ? :
(A) [2,4,6,81—5 (B) [3,5,7,91—7 (A) [2,4,6,8]—5 [3.5.7191=7
© [1,3,5 71— 4, (D) [4,6,8]—6 © [1L,357—4 D) [468]—6
(E) Notattemptedys (E) FWCT 31 =e
s6. Which of the follWing is the highest peak in|sq fimfafiaa & & sfemwn HoH Feft W A
Haryana ? i’; ' g7
(A) Riwasa Hill oy (A) Feaar Feret '32) =%
(B) Karoh Peak ® T I ﬁ’ - ’_%:
(C) Dhosi Hill © %ﬂrﬁﬁ
(D) Khanak Hill (D) &=
red =3
(E) Not attempted () I W1 G Aoty
) g148 A ? % ,2_ = 4
fL e
C ~ 5 - 4




correct locations in Column B :

7 Column A Column B

{ g (Landmark) (Location)

' 5, Brahma Sarovar 14 Faridabad
p. Surajkund " ii.  Bhiwani
c. Tilyar Lake iti.  Kurukshetra
4. Star Monument iv.  Rohtak
Codes :
(A) a-i, b-iv, c-ii, d-iii
(B) a-iii, b-1v, c-i, d-ii
(C) a-iil, b-i, c-iv, d-ii
(D) a-il, b-i, c-iv, d-iii
(E) Not attempted g%%

physiographic divisions of the Ghaggar-Yamuna

Plain in Haryana ?

(A) Malwa, Khadar, Doab and Rohilkhand
(B) Bhakra, Doab, Terai and Chaur *
(C) Bangar, Khadar, Naili and Bet

(D) Bhabar, Terai, Khadar arid Bundelkhand

(E) Not attempted

Haryana’s irrigation ?
(A) Dam on Ghaggar River
(B) Lakes construction in Rohtak
i (C) Water tax removal
| (D) Yamuna Canal
(E) Not attempted

oy =
@ty oy éﬁ;\,g/a/lv

. ~ e b 2LF]e

A

‘59' What was Firoz Shah Tughlaq’s contribution to

57. FiW A i R gt w #em B i T I

=~
(A) a-i, b-iv, c-ii, d-idi v
(=~

(B) a-ii, b-iv, c-i, d-1i \-

g /GC)’ra_-iiie b-i, £-iv, d-ii —
(D) a-ii, b-i, c-iv, d-lil .

(E) St AT ATEd

w2
o

5

\

|

| =
'{ & Which of the following is the correct group O(WﬁﬂﬁTﬁmﬁW-ﬁmm%
!

|

|

|

|

ﬂ\aﬂ?ﬁlﬁﬁﬁﬂmﬁﬁ;ﬂﬁﬂg%?

(A) AT, TR, A A AeeTEE
(B) v, T, i ST

,(e)(ﬂ'nt,@rat,ﬁ?ﬁaﬂtaz
(D) mﬁt,ﬁ'ﬂi@&(aﬁ'(a%a@?\;
(F) el 3 = 243

59. gi’(frrﬂﬂﬁ@ra@ iﬁﬁ_@%@ =T & T AR




60. What is the primary objective of the €-Adhigam
initiative launched by the Haryana Government 7
(A) To offer scholarships for hi

gher education
abroad

(B) To provide free internet access in rural areag

(C) To distribute tablets to student
to 12 for digital leamning

(D) To establish new govern
urban areas

(E) Not attempted

s in grades 10

ment schools ip

Em
R G

&
®@)
61. Consider the folloW‘iL‘:}g statements about the
Vardhana Dynasty ; o~
o3
I.  Their initial ca\Eital, Sthanveshvara, was
located in present-day Haryana, Riia ™
II. King Harsha later relocated the dynasty’s
capital to Kanyakubja, a city in modern Uttar
Pradesh.
II. The final capital of the dynasty was also
known by its ancient name Thanesar.
Which of the above srt%_tements is/are true ?
3)
(A) Ionly %)
(B) Tand I only 3
(©) 1,1 and 111 e
(D) Nandllonly ®
(E) Not attempted
62.

Western Europe’s climate moderate ?
A
(A) Humboldt @)

(B) Labrador Yé
(C) Gulf Stream ;’_',
(D) Canary ®

(B) Not attempted

Which ocean currentcis warm and helps kce(@ FH-H werma awr wf ¥ it iy T A

(D) w=dt a}ﬁsﬁ—'ﬁ::rq BT Tohet T e
(BE) SRt &ramey

61. o T ¥ A F Fefele o o R

o ; |
Hfemefty

IL. wﬁﬁmﬁ_msﬁrwwﬂﬁaﬂgﬁs o
=mﬁﬁwﬁﬁﬁﬁﬁmmw
R |

Ill.mﬁﬁﬁﬂmﬂaﬁmmﬂ

TR & oft T s o
SR A FH-H/A T w3 o
ST
(B) Faar13MR1I
(©) Il
(D) e 11 3R 111
(E) I e} &1 =medy E’%S

——— AT, <l WEH ST @ | Hag et & 7
(A) ERIlT

(B)

C) ‘wew v

(D) FAd

(E) IuCAEH 0 A8d

& 16 &




P

o Match the following Articles of the Indian(g3, Jaifer A # fog g vl wferers o Freafir
:6-' Coustim‘i‘)“ in Column A with their respective N aﬁ—@(mm Bﬁﬁqr{q:ﬂ%ﬁdﬁm famr g

.ot Matter in Column B :
i \ 2 firem
Column A Column B 5 B
Article) (Subject Matter) 4 5
; It HICTH
‘ | et oy ()
o Article 14 i. Protection of life and 4 i wm %T :
. a. ﬂﬂt@a 14 & afe AT
personal liberty T
p. Article 19 ii. Equality before law b, T 319 i m@%ﬁ)%wam
¢ Article 21 iii. Rightto fret.:dom of speech " 913,@3 1. aﬁ\(k . wafirsafen 1 T
‘ and expression = msfmr -
4. Article 32 iv. Right to constitutional d 3411%?{ 32 iv. AT ST AR
remedies ;
e
ey ey, b, i, AV

(A) a-ii, b-i, c-iii, d-1v
(B) a-ii, b-iii, c-1, d-1v

ole Sk . -
a-ii, b-iii, c-i, d-1v

(C) a-iii, b-ii, c-i, d-1v

(C) a-ii, b-ii, c-1, d-iv O
g . D) a-i, b-iv, c-ii, d-iii @
(D) a-i, b-1v, c-11, d-m E%E ( : ’ ol :
(E) Not attempted IE'%{‘“ 7 & e g;
ff. The Sangita Ratnakara, a treatise on music, was( ./ G W(W,Wﬁfﬁil Crferiaa o | frd
composed by which of the following musicians ? et Iy eft 2 2’5
(A) Swathi Thirunal (A) @i e ®
(B) Tansen e )
(C) ' Amir Khusrau ®) f . a
(D) Sharangadev (C). RRES
(E) Not attempted | (D} I Sl EEE
(E) Iate 3T =med oy
';65' Given the table below, which department has the | 65. ) < 17§ arferser #, frw fenam A wfer smHetd @y
_ 1Wroﬁt per employee ? I FIE? )
i ) Profit (T in el ;'r:
] Depart No Of Efﬁ .
B _______mem Employees Lakhs) ' ferwrt qEqT ({ ‘)W m?ﬁ)’
) S AR -
‘-!- ____}iIL 20 40 HR 200 ¢ 40 . _,V,BV 2
1 IT 80 70 IT g0, 70 e
‘ B"“"ﬁ——_._—-———'—'-—'_—_'_ ot 70
M 50 50 gfrer 50 (] 50 — L
] P
: % 60 30 forsh 60 30
- o .
l (A) Sajes (B) IT (B) IT %
; (C), Operations (D) HR © : : (D} HR 3¢
: (E) Not attempted (E) SR 2 Z i
bR " il & 17 & ¢ I¥7 ‘




66. A frain moving at 90 km/h takes 30 seconds 1 -
cross a bridge. It takes 18 secondg to ¢ ’

T0SS a pole.
Find the length of the bridge.
(A) 300m (B) 450 m
(C) 350m (D) 409 m

(E) Not attempted

T @
TR my BT

the valye of x2 + yz 7 o8

(A) 49 ©

B) 25

©) s0

(D) 9

(E) Not attempted % -

shadow-7p m long When the Sun’g | 68. ;
angle of elevation ig 30;;}What is the height Ql;?hs gwmta% 0 it W%WWWW -
tower 7 ®) 30 Fl‘ﬁaT%I‘c’fBr( m%ﬁﬁ%?‘\
: 20 '
(B) 20m “é‘) 04 ®) 201 = 3
(©) 10m o ©) 104 flffl- 52 o
20
Dy 22 A 0 _ i 3
(D) N Yooy /('B‘J’Lzﬁ m \0 &B J; )
(E) Not attempyeq LI (E) WRE I 3L g m
N= E‘i—- El \
3
69.  Which of the following s , major Agro-Forestry ﬁqﬁ‘ﬁ%ﬁ@rﬁﬁ& 5 :
Species Supporting Wood-based industries 1 Ty & arch My ?ﬁﬁaﬁzﬁm‘% i n
Haryana 9 s ST ST 2 9 < m%’@rﬁ
D\
(A) Deodar & (A) IR
(B) Poplar ® B) form () DAY W
(C) Sal o OR: TR
(D) Banyantree o e (D) T2 (srue N\
(E) Notattempted @) (E) IWHT 3 ey '\( )
. S ——— ‘ B~
& 18 &
B

Vg
D

/r:gj.g_/v—

AR,



48

','
-i 4

consider the following statements regarding the |70, gfaom & Jemach Tror e % e # frefufia
-

Panchayatl Raj system in Haryana :
1 The Zila Parishad is responsible for
advising, supervising and coordinating the

functions of the Panchayat Samitis within a
district.

I The Panchayat Samiti is the highest

institution of the Panchayati Raj system at
the district level.

M. Gram Panchayats directly supervise the
activities of the Zila Parishad.

Which of the above statements is/are true ?
(A) ,Mand III

(B) OnlyI

(C) Tand I

(D) Only IT

Op(0)
(E) Not attempted E%{";

T What s the name of the r
b Department of Wom
(DWCD), Haryana und
Stheme 9

en and Child Development
er Beti Bachao Beti Padhao

(A) Mahri Beti Bachao
(B) Mahri Degh ki Beti

(©) Mahy Laado ki Awaaz

D) Mahri Laado

(E) Not attempted

TI e
Whlch institution is mainly responsible for
p OCurip

g food grains at MSP for maintaining
ffer Stocks 7

)Commlssmn for Agricultural Costs and
Prices (CACP)

adio programme launched |71

(®

Q I:lmstry of Agriculture _

o) ood Corporatlon of India (FCI) |
; NABARD

B N

Ot attempted
N

BRI RIS

1. frem ftrs ek e 3 it e a1
TATE 3, Ik Tl o Hrat & T 6
fore R 21—
1. maﬁﬁﬁ%mwmwm
) wateT gen)
L 7 v fore aftee i it 6 vere
el el €
ITh -1/ A I B/ 2
(A) 1, 11 3R I
WI
(C) 13RI
(D) FaA 11
(E) S gmams 52
$
@
: %mwmﬁm%wﬁmﬂ?ﬂa

foerre T (sﬁemmﬁ) g g0 ¥E fR
m‘t’%@raﬂmmwwéj

(A) T SRS S

(B) "Rl

(C) wTelt ATl it 37T

DY A el

(E) wqﬁ%mmaﬁzﬁ T3
&
(d)

72. wmmr@ﬁ%fmm(mmmm

@ﬂaﬁ%ﬁmg@um@ﬁw vy R e 2

(A) Tﬁmaﬂtg@m@@m
(B) Y varer

Mmﬁa wrer P (i)
(D) &g Y/
(B) S & e

Cn CP

&198&



73.  \Which of the tollowing statements is incorrect 7

(A) KNiel Canal connects the Arctic Ocean to the
Atlantic Ocean.

Panama Canal connects the Atlantic Ocean to
.- ,’ \
the Pacific chan.

(B)

. . @) .
(C) Bering Strait connects the Pacific Ocean to
the Arctic Ocean.
or
(D) Suez Canal connects the Red Sea to the

Mediterranean Sea.

(E) Not attempted

e

74.  Which of the following statements about internet |74,
security and privacy is incorrect 7

(A) Clearing your browser’s cache can help free
up some disk space.
(B) “HTTPS” in&igates a secure connection for
(B
browsers. ®
(C) Using a VPNican enhance security on public
Wi-Fi networks.
(D) Public W i-FfT"ﬁ"ptworks are generally secure
for online activities, '

(E) Not attempted

73, Fefafea § d Snm mm e 2
(A) 1T et ek mRTaTT A ateaifen merEm

At )

(B) TAHT &L A weramm 1 wetid Temmy

BEIEGiEY

(D) TS TEU AT TR 1 ¥37eer R & et |
(E) ST AT =i

TTIE AT SR T F ai F Rt # 8

T U T 2 9

(A) mm%%ﬂﬁ@ww&@%ﬁ
T Eief! 0 | weg et gt 2

(B) “HTTPS” STest & fore weh wefio s =y
HUGETGIE S

©) WNWWW%—WWWW
TET HHaAT R | N

(D) W Séer Yo st w0 atens
Wﬁﬁﬁq@i%mm@a%

(E) I = 7 =meyy

Em
R
e8

75. In early 2024, which Indian city launched the &2024 B ] Wy
country’s first underwater metro line ? ) \__ w%m ﬁ& I | E3) gl |
4 b als;‘_ ? T
(A) Mumbai ) . e
B) Kochi .o )
(B) Kochi “( ®) B .
(C) Kolkata %0
) ) (C) Eﬁﬁm\
(D) Chennai
(D) 3=
(E) Not attempted
(E) a3 =mey
e
B & 20 &

ol




|
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76. What is the antonym of “Meticuloys” ?
(A) Precise
(B) Detailed
) Sloppy
(D) Careful
(E) Not attempted

77. In which sequence should the following parts be
arranged to form a proper sentence ?

the station/ reached / before noon/ they
(@) (1) (1) (1v)
(A)IL IV, I, III |
(B) I, T, IV, III
(C) IV, I, IL, TII

ABTIV, 1L, 110
(E) Not attempted

-

EEE
=
El%i“e

78. Identify which part of the following sentence has

an error.
Each of the boys / | have submitted /
M (In
his assignment / today.

an (v)

(A) III

(B) I

(C) IV

11

(E) Not attempted

79. Fill in the blanks :
As the plane through the turbulence,
passengers their seatbelts tighter. The
captain’s calm voice reassured everyone.

;(#\‘)ﬁew, fastened
(B) flying, held
(C) flew,.grabbed
(D) flown, hold > T
(E) Not attempted

80. Fill in the blank :
It is essential that she ,

present at the
meeting tomorrow. >

(A) were =g
be <
(C) was ®
(D) is o
(E) Not attempted 5~
eJ

81. What is the synonym, of “Ancient” ?
(A) Current 7
(B) Future 7
Old
(D) Recent vy
(E) Not attempted

~2
82. Which of the f(ilowing options gives _the
grammatically correb} sentence ?.
e report comprises five sections.
(B) The report is compnsed of five sections.
(C) The report had COmprmed five sections.-
(D) The report compnses of five sections. 7-
(E) Not attempted

83. Fillin the blank :
"By the time we got there, the train .
(A) leaves ~

(B) had left
Tt 3% -
(D) has left 3 g%;

(E) Not attempted ®

: %)
Which of the following describes a person who

does not behe_ve in the existence.of God ?
Athe:st B G Bﬁ;ostlc
(C) Skepti D) elst
(E) Not attempted
85. Fillin the blank :
They were finally able to
long disagreement.
(A) burn the bric_lgq .
(B) bury the axe, -
W' the beans

(D) bite the bullet

after a

(E) Not attempted

&21&



86. F=feiaa § ¥ SrTER’ ?

,ﬁﬁi, ¥ B)FRE SO D)HA
® ST
87. wgwﬁaﬁqw%} E%S
W B3 ClerfEm )
(E) I &7 =med
88. “amfiyr vise 1 Afg-fa=e @ ;
(A) a1 + (gl)’E"‘Tc“‘i"ﬁr g
SC) AT+ T W*fﬂ
(E) ST A =med &
89. uﬁmﬂﬁa‘ra’rﬁaﬁl‘aﬁawm%
(A) TRETEH AR wC’(B)%WHT?fEFW
_ A€ AR () P v A o
(E) 30T &A1 =Ied
. SuET TR R AT &
(Ao (B) FHE (O o
(E) 39 el a1 =ed i*-‘

T Fm"amrwhaﬁr%’f

(At)”;',raiiﬁ XB)/%T o (CXW

(©3)

(E) I A1 21 9med ‘
1A TR H ygaer @

91.
(D).@T

94. afafaa Feurt ot frem #ifs -

I fEamd o i v fadg 2, 3
T AT e & |
forg I 4w
gaﬁﬁaﬁaﬂfmmz‘r

!

Rra are § &1 a1 el § 31feres Freror are A1
m%wmwﬁa%ﬁ 34
g A FEAE .
Q@r UG S G S9aTd AT AT
G ¥ U IR arar &, 39
TR ST FEd & |—
ST AT A B L 8 ?
(A) 1, I 3T 111 (B) L II, ITT 3 IV
(C) L I AR IV S 1 AR IV
(E) IR TET A1 9ned A

aﬁagqﬁwm?ﬁmwﬁml I q

BRI AT R :

(A) 310t Ty

TR { (D) 319l @
(E) 3R &t aar=meq
96. fr=fafaa o & fraar
(A)=® (B)Z
(E) I €t &A1 =g
97. Y% I8 &1 95 hifre : m(‘
(AIY  B)IRX  (C) ufeam IssaT
(E) 3 1 = ' P
“gfqsT TR SR STerier & o et s 2
Aﬁ)‘%ﬂgﬁr&a (B) STsuwfasT

(C) Tsugfas (D) w=Ifa

(E) WA 1 e

3qATFg d97T U T Th
Fed

IL.
@Lﬁm

III.

Iv.

95.

TR AT R 2

) d D)y

98.

92. Td &1 9T 3
: 99, few e ferereat o Al wer 1 ST A R
EREE ?ﬁﬁmm (&) TN (B) R (C) TR (D) TR
() wdm s WW (E) I Ar =
(E) ST e 100.ﬁcrf%1*mﬁﬁwqmmuﬁw§qﬁ%;
(A) ST, Tt fy g
93, Tt & Vit gid T ol | Gfh 7 e R (B) -9, 2a1s, Seha
(C) BT, WaR, T=gerany ,
(A) FIH w‘( (C) 9% (D) a9 3
,(«Braf%«rwmmaaﬁ g%%
(E) 3 7l er 9red (E)m%ﬁémmﬁ
\

& 22 &




